Exam Date : 06/09/2023

Subject Name : ENGLISH

Question 1

Complete the sentence using appropriate option. He

Answer :

(A) exercises
(B) was exercising
(C) has been exercising

(D) have been exercising

Right Answer :
has been exercising

Question 2

QUESTION PAPER
Madhyamic ENGLISH [SHIFT - 2]

Subject Question

daily for a year now.

Which tense is used to show the completion of an action by a certain time in the future?

Answer :

(A) Future perfect tense

(B) Present indefinite tense

(C) Future perfect continuous tense

(D) Both (A) and (C)

Right Answer :
Future perfect tense

Question 3

Complete the sentence using appropriate option. They.

Answer :

(A) has got

(B) have got

(C) gets

(D) got

Right Answer :
got

Question 4

into their cars and drove away.

Which tense is used to express an action going at some point in the past?

Answer :

(A) Past indefinite tense

(B) Past perfect continuous tense

(C) Past perfect continuous tense

(D) Past perfect continuous tense
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Question Id : 1

Option Id

1001
1002
1003

1004

Right Option Id : 1003

Question Id :

Option Id

55001
55002
55003

55004

Right Option Id : 55001

Question Id :

Option Id

54001
54002
54003

54004

Right Option Id : 54004

Question Id :

Option Id

53001
53002
53003

53004

55

54

53



Right Answer :

Past perfect continuous tense

Question 5

Right Option Id : 53003

Question Id :

Identify the tense used in the underlined phrase He joined the cooking school late but only in a few months had mastered the recipes.

Answer :

(A) Past indefinite tense

(B) Past perfect tense

(C) Present perfect tense

(D) Present indefinite tense

Right Answer :
Past perfect tense

Question 6

Complete the sentence using appropriate option The crowd that

Answer :
(A) have gathered

(B) has been gathered

(C) had gathered

(D) has been gathering

Right Answer :
had gathered

Question 7

Choose the past perfect continuous tense form of the sentence. "George travels around the world".

Answer :

(A) George bas been travelling around the world.

(B) George had been travelling around the world.

(C) George shall have been travelling around the world.

(D) George was travelling around the world.

Right Answer :

George had been travelling around the world.

Question 8

Complete the sentence using appropriate option | probably.

Answer :
(A) should have

(B) will

(C) has

(D) having

Right Answer :
should have

Question 9

due to the quarrel has dispersed now.

Option Id

52001
52002
52003

52004

Right Option Id : 52002

Question Id :

Option Id

51001
51002
51003

51004

Right Option Id : 51003

Question Id :

Option Id

50001
50002
50003

50004

Right Option Id : 50002

Question Id :

Option Id

49001
49002
49003

49004

Right Option Id : 49001

Question Id :

52

51

50

49

48



Identify the tense used in the given sentence. "Welcome to the ceremony."

Answer : Option Id

(A) present perfect tense 48001

(B) present indefinite tense 48002

(C) past indefinite tense 48003

(D) past perfect tense 48004

Right Answer : Right Option Id : 48002

present indefinite tense

Question 10 Question Id :

Identify the tense used in the given sentence. "Someone picked my pocket."

Answer : Option Id

(A) Present indefinite tense 47001

(B) Past indefinite tense 47002

(C) Past perfect tense 47003

(D) Present perfect tense 47004

Right Answer : Right Option Id : 47002

Past indefinite tense

Question 11 Question Id :

Fill in the blank with the past perfect tense form of the verb given in the bracket. "Vikram......... his job." (do)

Answer : Option Id

(A) Did 46001
W .

(B) Was doing 46002

(C) Had done 46003

(D) Had been doing 46004

Right Answer : Right Option Id : 46003

Had done

Question 12 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech "Where have you spent your money?" She asked him.

She asked him where .......... Spent........... money.

Answer : Option Id
I h

(A) I'had/my 45001

(B) he had/his 45002

(C) he has/his 45003

he has/h

(D) she has/her 45004

Right Answer : Right Option Id : 45002

he had/his

Question 13 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech She said, "I am visiting London next weekend". She said
that ............. visiting London the .................
Answer : Option Id
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(A) She is/following weekend

44001
(B) she was/next weekend 44002
(C) she was/following weekend 44003
(D) she will be/next weekend 44004
Right Answer : Right Option Id : 44003
she was/following weekend
Question 14 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech "I will make sure to help you", my sister said. My sister
............ that ........help me.

Answer : Option Id
(A) told/she will 43001
(B) assured/she would 43002
(C) said/she must 43003
(D) told/she won't 43004
Right Answer : Right Option Id : 43002
assured/she would

Question 15 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech "How many apples have you eaten today?" mother
asked. Mother asked that how many apples......... That day.

Answer : Option Id
(A) I had eaten 42001
(B) you have eaten 42002
(C) she had eaten 42003
(D) I have eaten 42004
Right Answer : Right Option Id : 42001

I had eaten

Question 16 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech 'Sheeba is very kind to animals"”, said Leena. Leena.......
that Sheeba was very kind to animals.

Answer : Option Id
(A) Tells her 41001
(B) Says her 41002
(C) Told us 41003
(D) Asked them 41004
Right Answer : Right Option Id : 41003
Told us

Question 17 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech "Have you been to Chennai before?", He asked. He asked
ifl....... to Chennai before.

Answer : Option Id

(A) Have gone 56001
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(B) Had been

56002

Would

(C) Would go 56003
Should b

(D) Should been 56004

Right Answer : Right Option Id : 56002

Had been

Question 18 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech " | have been walking along the river", he said. He said

that he-------- along the river.

Answer : Option Id
Had b Iki

(A) Had been walking 57001
Should b Iki

(B) Should be walking 57002
Has t Ik

(C) Has to wa 57003
Have t Ik

(D) Have to wa 57004

Right Answer : Right Option Id : 57001

Had been walking

Question 19 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech He said, "Do you speak English?". He asked me whether -

----English.

Answer : Option Id
H k

(A) He speaks 58001
| k

(B) I spoke 58002
Th k

(C) They spea 58003
Y k

(D) You spea 58004

Right Answer : Right Option Id : 58002

I spoke

Question 20 Question Id :

Select the most appropriate option to change the sentence from direct speech to indirect speech The salesman said, "Are you interested in the scheme?

The salesman asked me if ................. interested in the scheme.

Answer : Option Id
th

(A) they were 67001

(B) you were 67002
h

(C) he was 67003
|

(D)1 was 67004

Right Answer : Right Option Id : 67004

I was

Question 21 Question Id :

Pickout the Non finite verb/verbs in the sentence given below He always refuses to obey orders.

Answer : Option Id
H

(&) Re 73001

(B) Always

73002
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(C) Refuses

73003
(D) To Obey 73004
Right Answer : Right Option Id : 73004
To Obey
Question 22 Question Id :
Pickout the Non finite verb/verbs in the sentence given below Knowing her, she is unlikely to take any help.
Answer : Option Id
(A) Knowing 22001
(B) Unlikely 72002
(C) Take 72003
(D) Help 72004
Right Answer : Right Option Id : 72001
Knowing
Question 23 Question Id :
Pickout the Non finite verb/verbs in the sentence given below All the teachers have gone to the picnic together.
Answer : Option Id
(A) Have 71001
(B) Gone 71002
©To 71003
(D) Together 71004
Right Answer : Right Option Id : 71002
Gone
Question 24 Question Id :
Pickout the Non finite verb/verbs in the sentence given below You had better ask permission.
Answer : Option Id
(A) You 70001
(B) Better 70002
(©) Ask 70003
(D) Permission 20004
Right Answer : Right Option Id : 70003
Ask
Question 25 Question Id :
Pickout the Non finite verb/verbs in the sentence given below | have known him laugh for nothing.
Answer : Option Id
@ 69001
(B) Known 69002
(C) Laugh 69003
(D) Nothing

69004
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Right Answer : Right Option Id : 69003
Laugh

Question 26 Question Id :
Pickout the Non finite verb/verbs in the sentence given below Generally speaking we receive what we deserve.

Answer : Option Id
(A) Generally 68001
(B) Speaking 68002
(C) Receive 68003
(D) Deserve 68004
Right Answer : Right Option Id : 68002
Speaking

Question 27 Question Id :
Pick out the Non-Finite verbs in the given sentence The grass wants cutting.

Answer : Option Id
(A) The 66001
(B) Grass 66002
(C) Wants 66003
(D) Cutting 66004
Right Answer : Right Option Id : 66004
Cutting

Question 28 Question Id :
Pick out the Non-Finite verbs in the given sentence | want to show you how to operate the machine.

Answer : Option Id
(A) Show 59001
(B) Operate 59002
(C) Machine 59003
(D) Show, operate 59004
Right Answer : Right Option Id : 59004
Show, operate

Question 29 Question Id :
Pick out the Non-Finite verbs in the given sentence His words left me thinking.

Answer : Option Id
(A) Words 65001
(B) Left 65002
(C) Me 65003
(D) Thinking 65004
Right Answer : Right Option Id : 65004

Thinking
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Question 30 Question Id : 64

A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice
He will teach me English

Answer : Option Id
(A) English is taught by him.

64001
(B) English is being taught to me by him. 64002
(C) I will be taught English by him. 64003
(D) I will taught English by him. 64004
Right Answer : Right Option Id : 64003
I will be taught English by him.
Question 31 Question Id : 63

A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice
We have bought a new car today.

Answer : Option Id
A has b being b htb today.

(A) A new car has been being boug y us today. 63001
A had b being b htb today.

(B) A new car had been being boug y us today. 63002
A b htb today.

(C) A new car was boug y us today 63003
A has b b ht b today.

(D) A new car has been boug y us today. 63004

Right Answer : Right Option Id : 63004

A new car has been bought by us today.

Question 32 Question Id : 62

A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice
Love your country.

Answer : Option Id

(A) Your country should be loved. 62001

(B) Your country is being loved. 62002

(C) Your country was loved. 62003

(D) Your country will be loved by you. 62004
Right Answer : Right Option Id : 62001
Your country should be loved.

Question 33 Question Id : 61

A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice
He has stolen my new pen.

Answer : Option Id
(A) My new pen is being stolen by him. 61001
(B) My new pen has stolen by him. 61002
(C) My new pen was being stolen by him. 61003
(D) My new pen has been stolen by him. 61004
Right Answer : Right Option Id : 61004

My new pen has been stolen by him.

Question 34 Question Id : 60



A sentence has been given in Active Voice. Out of the four alternative given below, select the one which best expresses the same sentence in Passive Voice

Work hard.
Answer :

(A) You were advise to work hard.

(B) You should work hard.

(C) You are advised to work hard.

(D) You are told to do hard work.

Right Answer :
You are advised to work hard.

Question 35

Identify the Passive Voice of the given sentence Ram is reading a book.

Answer :

(A) A book is being read by Ram.
(B) A book will be read by Ram.
(C) A book has been read by Ram.

(D) A book is read by Ram.

Right Answer :
A book is being read by Ram.

Question 36

Identify the Passive Voice of the given sentence Ram has cheated me.

Answer :
(A) I have cheated by Ram.

(B) I have been cheated by Ram.

(C) I was always cheated by Ram.

(D) I was being cheated by Ram.

Right Answer :
I have been cheated by Ram.

Question 37

Identify the Passive Voice of the given sentence Radha brings sweets.

Answer :

(A) Sweets are being brought by Radha.
(B) Sweets are brought by Radha.
(C) Sweets were brought by Radha.

(D) Sweets has been brought by Radha.

Right Answer :
Sweets are brought by Radha.

Question 38
Identify the Passive Voice of the given sentence Post the letter.

Answer :

(A) The letter is to be posted by you.

Option Id

60001
60002
60003

60004

Right Option Id : 60003

Question Id :

Option Id

40001
40002
40003

40004

Right Option Id : 40001

Question Id :

Option Id

39001
39002
39003

39004

Right Option Id : 39002

Question Id :

Option Id

38001
38002
38003

38004

Right Option Id : 38002

Question Id :

Option Id

37001

40

39

38

37



(B) Let the letter be posted.

37002
(C) Letter was being posted. 37003
(D) Letter will be posted. 37004
Right Answer : Right Option Id : 37001
The letter is to be posted by you.
Question 39 Question Id :
Fill up the blank, with correct option We use to indicate abrupt change of thought?
Answer : Option Id
(A) Dash 17001
(B) Semicolon 17002
(C) Colon 17003
(D) Exclamation mark 17004
Right Answer : Right Option Id : 17004
Exclamation mark
Question 40 Question Id :
Fill up the blank, with correct option We use to insert into writing as an extra information using Brackets, Comma or Dashes.
Answer : Option Id
(A) Parentheses 16001
(B) Hyphen 16002
(C) Dash 16003
(D) None 16004
Right Answer : Right Option Id : 16001
Parentheses
Question 41 Question Id :
Which Brackets is generally used in Mathematics or Technical Writing?
Answer : Option Id
(A) Round 15001
(B) Square 15002
(C) Braces 15003
Dy Al 15004
Right Answer : Right Option Id : 15004
All
Question 42 Question Id :
Fill up the blank, with correct option She has visited four cities this summer (.......... ) Patna, Gaya, Kolkata, and Delhi.
Answer : Option Id
I
R 14001
?
B) 14002
(OF

14003

17

16

15

14



(D) None

Right Answer :

Question 43
The ! symbol is called
Answer :

(A) Exclamation mark
(B) Question mark
(C) Full stop

(D) Semicolon

Right Answer :
Exclamation mark

Question 44
The "()" symbol is called
Answer :

(A) Square

(B) Parentheses
(C) Braces

(D) one

Right Answer :
Parentheses

Question 45
Which one is the symbols of Dash?
Answer :

(A)!
(B) --
(o

(D)

Right Answer :

Question 46
Which one is the symbols of Semicolon?
Answer :

(A)!
(B)?
@

(D)

Right Answer :

14004

Right Option Id : 14003

Question Id :

Option Id

13001
13002
13003

13004

Right Option Id : 13001

Question Id :

Option Id

12001
12002
12003

12004

Right Option Id : 12002

Question Id :

Option Id

11001
11002
11003

11004

Right Option Id : 11002

Question Id :

Option Id

10001
10002
10003

10004

Right Option Id : 10004
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Question 47

Fill up the blank, with correct option | need the following () books, pens and newspapers.

Answer :
(A)!

(B) ?

©:

(D) All

Right Answer :

All

Question 48

Fill up the blank, with the correct option Raman has no acquaintance

Answer :
(A) from

(B) to

(C) with

(D) in

Right Answer :

with

Question 49

Fill up the blank, with the correct option Shakespeare had a great insight

Answer :

(A) into

(B) over

(C) upon

(D) for

Right Answer :

into

Question 50

Fill up the blank, with the correct option English is spoken all

Answer :
(A) from

(B) above

(C) beside

(D) over

Right Answer :

over

Question 51

Fill up the blank, with the correct option Don't go

human nature.

Question Id :

Option Id

9001
9002
9003

9004

Right Option Id : 9004

Question Id :

Option Id

8001
8002
8003

8004

Right Option Id : 8003

Question Id :

Option Id

7001
7002
7003

7004

Right Option Id : 7001

Question Id :

Option Id

6001
6002
6003

6004

Right Option Id : 6004

Question Id :

9

8

7

6

5



Answer :

(A) Along

(B) Beyond

(C) Across

(D) Down

Right Answer :

Beyond

Question 52

Fill up the blank, with the correct option The beggar went

Answer :
(A) At

(B) In

(C) From

(D) Through

Right Answer :

Through

Question 53

Fill up the blank, with the correct option The earth revolves

Answer :

(A) Around

(B) Along

(C) Towards

(D) Among

Right Answer :

Among

Question 54

Fill up the blank, with the correct option My uncle will stay here

Answer :
(A) from

(B) before

(C) at

(D) till

Right Answer :

till

Question 55

Fill up the blank, with the correct option My father has been teaching in this college

Answer :
(A) for

(B) since

the market.

next Monday.

Option Id

5001
5002
5003

5004

Right Option Id : 5002

Question Id :

Option Id

4001
4002
4003

4004

Right Option Id : 4004

Question Id :

Option Id

3001
3002
3003

3004

Right Option Id : 3004

Question Id :

Option Id

18001
18002
18003

18004

Right Option Id : 18004

Question Id :

Option Id

2001

2002

4

3

18

2



(C) form

(D) in

Right Answer :

since

Question 56
Fill up the blank, with the correct option One shouldn't go ................... the rule.
Answer :

(A) for

(B) against

(Q) to

(D) on

Right Answer :

against

Question 57
Combine the following pair of sentences into one simple sentence. Robin is my friend. He is a journalist.
Answer :

(A) Robin who is a journalist and my friend.
(B) Robin, my friend, is a journalist.
(C) Robin is my friend but journalist.

(D) Robin is my friend and journalist too.

Right Answer :
Robin, my friend, is a journalist.

Question 58
Fill in the blanks with suitable option. Kasturi is poor; ----,he does not resort to begging to survive.

Answer :
(A) despite

(B) however

(C) Because

(D) and

Right Answer :

however

Question 59

Which of the following cohesive device will complete the sentence? | needed to call my mother ; --- it was already midnight.
Answer :

(A) Although
(B) as
(C) but

(D) because

2003

2004

Right Option Id : 2002

Question Id :

Option Id

19001
19002
19003

19004

Right Option Id : 19002

Question Id :

Option Id

21001
21002
21003

21004

Right Option Id : 21002

Question Id :

Option Id

36001
36002
36003

36004

Right Option Id : 36002

Question Id :

Option Id

35001
35002
35003

35004

19

21

36

35



Right Answer :
Although

Question 60
Complete the sentence with correct connector. Husna was in pain; ----- She did not tell anyone of her predicament.
Answer :

(A) however

(B) In Spite of

(C) Because

(D) but

Right Answer :

however

Question 61
Fill in the blank with correct answer. ----- I didn't like to spend time reading in class, but | enjoy it now.
Answer :

(A) next

(B) eventually

(C) overall

(D) Initially

Right Answer :
Initially

Question 62
Choose the correct combination for the following sentences. India will win the world cup. That is certain.
Answer :

(A) It is certain that India will win the world cup.
(B) India "'ill certainly win the world cup.
(C) Certainly, India will win the world cup.

(D) India will win the world cup certainly

Right Answer :
India "'ill certainly win the world cup.

Question 63
Fill in the blank with correct option. Mother didn't have time to go to the store; ----- ,there was no milk in the refrigerator.
Answer :

(A) nevertheless
(B) although
(C) consequently

(D) however

Right Answer :
consequently

Right Option Id : 35001

Question Id :

Option Id

34001
34002
34003

34004

Right Option Id : 34001

Question Id :

Option Id

33001
33002
33003

33004

Right Option Id : 33004

Question Id :

Option Id

32001
32002
32003

32004

Right Option Id : 32002

Question Id :

Option Id

31001
31002
31003

31004

Right Option Id : 31003

34

33

32

31



Question 64 Question Id : 30

Complete the sentence with correct option. It is important to complete your homework; ---,it should be turned in on time.

Answer : Option Id
Furth

(A) Furthermore 30001

(B) nevertheless 30002

herwi
(C) otherwise 30003
Ithough

(D althoug 30004

Right Answer : Right Option Id : 30001

Furthermore

Question 65 Question Id : 29

Complete the sentences with correct options. Mary is a beautiful and smart girl ,She is kind. She always takes care of the sick animals. -------- , every one

likes her.

Answer : Option Id

(A) Moreover, so 29001

(B) However, hence 29002
Therefore, h

(C) Therefore, however 29003

(D) So, besides 29004

Right Answer : Right Option Id : 29001

Moreover, so

Question 66 Question Id : 28

Select the alternative which best express the meaning of the idioms/phrase. Wild goose chase

Answer : Option Id

| h

(A) Useless searc 28001

(B) Chasing a goose 28002

(C) Hunting nature 28003

le f i

(D) Struggle for existence 28004

Right Answer : Right Option Id : 28001

Useless search

Question 67 Question Id : 27

Select the alternative which best express the meaning of the idioms/phrase. A close shave

Answer : Option Id
N

(A) Narrow escape 27001
Vi

(B) Victory 27002
Defeat

(C) Defea 27003

(D) Diversion 27004

Right Answer : Right Option Id : 27001

Narrow escape

Question 68 Question Id : 26

Select the alternative which best express the meaning of the idioms/phrase. An Open book
Answer : Option Id



(A) An elementary book
(B) A wise Solution
(C) Without any Secret

(D) Without any doubt

Right Answer :
Without any Secret

Question 69
Select the alternative which best express the meaning of the idioms/phrase. Black sheep
Answer :

(A) An honourable member of a group
(B) An disreputable member of a group
(C) A quarrelsome person

(D) A Kind man

Right Answer :
An disreputable member of a group

Question 70
Select the alternative which best express the meaning of the idioms/phrase. Come across
Answer :

(A) meet by chance
(B) to become successful
(C) Boycott someone or something

(D) Struggle hard

Right Answer :
meet by chance

Question 71
Select the alternative which best express the meaning of the idioms/phrase. To and fro
Answer :

(A) Back and forth
(B) Up and down
(C) Right or wrong

(D) Trial and error

Right Answer :
Back and forth

Question 72
Select the alternative which best express the meaning of the idioms/phrase. According to
Answer :

(A) As directed of
(B) As mentioned before

(C) On the basis of

26001
26002
26003

26004

Right Option Id : 26003

Question Id :

Option Id

25001
25002
25003

25004

Right Option Id : 25002

Question Id :

Option Id

24001
24002
24003

24004

Right Option Id : 24001

Question Id :

Option Id

23001
23002
23003

23004

Right Option Id : 23001

Question Id :

Option Id

22001
22002

22003

25

24

23

22



(D) As stated by

Right Answer :
As stated by

Question 73

Select the alternative which best express the meaning of the idioms/phrase. For good

Answer :

(A) Permanently

(B) For a better result

(C) Definitely

(D) Genuinely

Right Answer :
Permanently

Question 74

Select the alternative which best express the meaning of the idioms/phrase. Back Up

Answer :

(A) Returning to the same spot

(B) To support and sustain
(C) To move backward

(D) To fall down

Right Answer :
To support and sustain

Question 75

Select the alternative which best express the meaning of the idioms/phrase. Call forth

Answer :

(A) To summon into action

(B) To shout

(C) To recite something

(D) To read loudly

Right Answer :
To summon into action

Question 76

Select the alternative which best express the meaning of the idioms/phrase. Cast away

Answer :
(A) Reject

(B) Produce

(C) Go away

(D) Throw aside

22004

Right Option Id : 22004

Question Id :

Option Id

74001
74002
74003

74004

Right Option Id : 74001

Question Id :

Option Id

20001
20002
20003

20004

Right Option Id : 20002

Question Id :

Option Id

75001
75002
75003

75004

Right Option Id : 75001

Question Id :

Option Id

78001
78002
78003

78004

74

20

75

78



Right Answer : Right Option Id : 78004
Throw aside

Question 77 Question Id :

Select the alternative which best express the meaning of the idioms/phrase. Get into
Answer : Option Id
(A) To find something

92001
(B) To find something 92002
(C) To receive something 92003
(D) To be ignorant 92004
Right Answer : Right Option Id : 92002
To find something
Question 78 Question Id :
Select the alternative which best express the meaning of the idioms/phrase. Carry out
Answer : Option Id
(A) Put something in action 93001
(B) To carry something heavy 93002
(C) To encourage someone 93003
(D) To deny 93004
Right Answer : Right Option Id : 93001
Put something in action
Question 79 Question Id :
Choose the correct phrase from the given option and make a conditional sentence. She will come to your party if you ............. her.
Answer : Option Id
(A) will invite 94001
(B) would invite

94002
(Q) invite 94003
(D) invited

94004
Right Answer : Right Option Id : 94003
invite
Question 80 Question Id :
Choose the correct phrase from the given option and make a conditional sentence. If he.......... quietly, they will not hear him.
Answer : Option Id
(A) talk 97001
(B) will talk 97002
(C) talked 97003

Ik

(D) talks 97004
Right Answer : Right Option Id : 97004
talks

Question 81 Question Id :

92

93

94

97

96



Choose the correct phrase from the given option and make a conditional sentence. You will pass your exam if you.............. hard.

Answer : Option Id
(A) will work 96001
(B) worked 96002
(C) work 96003
(D) works 96004
Right Answer : Right Option Id : 96003
work
Question 82 Question Id :
Choose the correct phrase from the given option and make a conditional sentence. We will win if we.......... well enough.
Answer : Option Id
(A) had played 91001
(B) have played 91002
(© play 91003
(D) will play 91004
Right Answer : Right Option Id : 91003
play
Question 83 Question Id :
Choose the correct phrase from the given option and make a conditional sentence. You will get the job on the condition that you......... hard.
Answer : Option Id
(A) work 98001
ill k
(B) will wor 98002
(C) have work 98003
(D) worked 98004
Right Answer : Right Option Id : 98001
work
Question 84 Question Id :
Choose the correct phrase from the given option and make a conditional sentence. If the students were tired, they........ in he bus.
Answer : Option Id
(A) will sleep 99001
(B) have slept 99002
Id sl
(C) would sleep 99003
(D) had slept 99004
Right Answer : Right Option Id : 99003
would sleep
Question 85 Question Id :
Choose the correct phrase from the given option and make a conditional sentence. If he forgot about it, I........... remind him.
Answer : Option Id
h
(A) have 100001

(B) had
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(C) will

(D) would

Right Answer :
would

Question 86

100002

100003

100004

Right Option Id : 100004

Question Id :

Choose the correct phrase from the given option and make a conditional sentence. If Shahil had been online, he........... to Rocky.

Answer : Option Id
(A) will chat 95001
(B) would chat 95002
(C) would have chatted 95003
(D) will have chatted 95004

Right Answer :
would have chatted

Question 87 Question Id :

Choose the correct phrase from the given option and make a conditional sentence. If the party .......... on Saturday, Emma would have gone there.

Answer : Option Id
has b

(A) has been 90001
had b

(B) had been 90002
have b

(C) have been 90003
have had b

(D) have had been 90004

Right Answer :
had been

Question 88

Choose the correct phrase from the given option and make a conditional sentence. If it ............ showing, we........... outside.
Answer :

(A) stop, would go

(B) stopped, would go

(C) stops, would go

(D) stopped, will go

Right Answer :
stopped, would go

Question 89
Select the appropriate option If she had sent us a photo, we would have recognized her. Which conditional is this?
Answer :

(A) zero
(B) first
(C) second

(D) third

Right Option Id : 95003

Right Option Id : 90002

Question Id :

Option Id

77001
77002
77003

77004

Right Option Id : 77002

Question Id :

Option Id

88001
88002
88003

88004

95
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Right Answer :

third

Question 90

Fill up the blank with the correct option. The jury

given its decision.

Right Option Id : 88004

Question Id :

Answer : Option Id
(A) Are 87001
(B) Were 87002
(C) Has 87003
(D)ls 87004
Right Answer : Right Option Id : 87003
Has

Question 91 Question Id :
Fill up the blank with the correct option. The poor.................. humiliated.

Answer : Option Id
(A)is 89001
(B) was 89002
(C) has been 89003
(D) are 89004
Right Answer : Right Option Id : 89004
are

Question 92 Question Id :
Fill up the blank with the correct option. Neither girl............. ready to sing.

Answer : Option Id
(A)is 86001
(B) Are 86002
(C) have 86003
(D) Were 86004
Right Answer : Right Option Id : 86001
is

Question 93 Question Id :
Fill up the blank with the correct option. Gold and Silver.......... precious metals.

Answer : Option Id
(A)is 85001
(B) has 85002
(C)are 85003
(D) was 85004
Right Answer : Right Option Id : 85003

are
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Question 94

Fill up the blank with the correct option. Ankit as well as Ram

Answer :

(A) Were

(B) Have

Q) lIs

(D) Has

Right Answer :

Is

Question 95

Fill up the blank with the correct option. Every person in the country

Answer :
(A) Has

(B) Have

(C) Was

(D) Is

Right Answer :

Has

Question 96

Fill up the blank with the correct option. Each boy

Answer :

(A) Has

(B) Were

(C) Have

(D) Are

Right Answer :

Has

Question 97

Fill up the blank with the correct option. A lot of work

Answer :
(A) are

(B) were

Q) is

(D) have

Right Answer :

IS

Question 98

Fill up the blank with the correct option. An empty vessel

Answer :

good singer.

a right to vote.

yet to be done.

Question Id :

Option Id

84001
84002
84003

84004

Right Option Id : 84003

Question Id :

Option Id

76001
76002
76003

76004

Right Option Id : 76001

Question Id :

Option Id

83001
83002
83003

83004

Right Option Id : 83001

Question Id :

Option Id

82001
82002
82003

82004

Right Option Id : 82003

Question Id :

Option Id

84

76

83

82

81



(A) sounds

81001
(B) have sound 81002
(C) sound 81003
(D) were sound 81004
Right Answer : Right Option Id : 81001
sounds
Question 99 Question Id :
Fill up the blank with the correct option. Physics.......... an easy subject
Answer : Option Id
(A) are 80001
(B) were 80002
©is 80003
(D) have 80004
Right Answer : Right Option Id : 80003
is
Question 100 Question Id :
Fill up the blank with the correct option. She........... daily.
Answer : Option Id
(A) walk 79001
(B) walking 79002
(C) walks 79003
(D) have walked 29004
Right Answer : Right Option Id : 79003
walks

Art Of Teaching

Question 101 Question Id :
Teaching learning process is a journey from
Answer : Option Id
(A) concrete to abstract 120001
(B) known to unknown 120002
(C) simple to complex 120003
(D) all the above 120004
Right Answer : Right Option Id : 120004
all the above
Question 102 Question Id :
Student is secondary in
Answer : Option Id
(A) Autocratic teaching 121001

(B) Democratic teaching

121002

80

79

120

121



(C) Open teaching

121003
(D) Progressive teaching 121004
Right Answer : Right Option Id : 121001
Autocratic teaching
Question 103 Question Id :
Autonomous learning is
Answer : Option Id
(A) knowledge through independent effort 125001
(B) knowledge through teachers effort 125002
(C) knowledge through families effort 125003
(D) knowledge through societies effort 125004
Right Answer : Right Option Id : 125001
knowledge through independent effort
Question 104 Question Id :
For writing instructional objectives we use
Answer : Option Id
(A) Noun 123001
(B) Adjectives 123002
(C) Verb 123003
(D) Adverb 123004
Right Answer : Right Option Id : 123003
Verb
Question 105 Question Id :
One criticism of Bloom's taxonomy's cognitive hierarchy is
Answer : Option Id
(A) lowest level not needed 124001
(B) widely hierarchy of verbs 124002
(C) not a backbone of teaching philosophies 124003
(D) all the above 124004
Right Answer : Right Option Id : 124001
lowest level not needed
Question 106 Question Id :
Inductive methos is
Answer : Option Id
(A) Teacher centered 119001
(B) Curriculum centered 119002
(C) Student centered 119003

(D) school centered

119004

125

123

124

119



Right Answer :
Student centered

Question 107
Disadvantages of Inductive method is

Answer :

(A) time consuming
(B) leads to immediate solution
(C) leads to chaos

(D) makes teacher in effective

Right Answer :
time consuming

Question 108

Advantage of the deductive method is
Answer :

(A) can be used for all subjects
(B) appropriate for higher level
(C) teaching can take place for all students at a time

(D) all the above

Right Answer :
all the above

Question 109
Specific objectives in a lesson plan is for
Answer :

(A) teacher
(B) student
(C) curriculum

(D) all the above

Right Answer :
teacher

Question 110
Gaining attention is a very important component of
Answer :

(A) Merrill's model

(B) Gagne's model

(C) ADDIE model

(D) None of the above

Right Answer :
Gagne's model

Right Option Id : 119003

Question Id :

Option Id

117001
117002
117003

117004

Right Option Id : 117001

Question Id :

Option Id

126001
126002
126003

126004

Right Option Id : 126004

Question Id :

Option Id

127001
127002
127003

127004

Right Option Id : 127001

Question Id :

Option Id

128001
128002
128003

128004

Right Option Id : 128002
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Question 111
Which skills are used in microteaching?
Answer :

(A) Blackboand skill
(B) Probing question skill
(C) A & B both

(D) None of the above

Right Answer :
A & B both

Question 112
There is a similarity between instruction and teaching
Answer :

(A) Bothe are student centric
(B) Both are subject centric
(C) In both Special emphasis is given on feedback, reinforcement & text analysis

(D) None of the above

Right Answer :
In both Special emphasis is given on feedback, reinforcement & text
analysis

Question 113
Which of the following statement is wrong for microteaching?
Answer :

(A) A teacher training concept
(B) It decreases the confidence of teacher
(C) It provides coustructive feedback

(D) None of the above

Right Answer :
It decreases the confidence of teacher

Question 114
The Maximum impact on the learning of children is visible inside of classroom

Answer :

(A) Discipline of classroom
(B) Psychological environment of classroom
(C) Social environment of classroom

(D) None of the above

Right Answer :
Psychological environment of classroom

Question 115
Basic principles of inclusive education are
Answer :

Question Id :

Option Id

129001
129002
129003

129004

Right Option Id : 129003

Question Id :

Option Id

108001
108002
108003

108004

Right Option Id : 108003

Question Id :

Option Id

130001
130002
130003

130004

Right Option Id : 130002

Question Id :

Option Id

122001
122002
122003

122004

Right Option Id : 122002

Question Id :

Option Id

129

108

130

122

118



(A) It includes each a every category of children
(B) Inclusion values the diversity
(C)BothA &B

(D) None of the above

Right Answer :
Both A & B

Question 116
A library is a place where
Answer :

(A) Many books are kept
(B) Many toys are kept
(C) many clothes are kept

(D) None of the above

Right Answer :
Many books are kept

Question 117
Which one of the following is a type of book?
Answer :

(A) General text book
(B) Reference book
(C) Both Aand B

(D) None of these

Right Answer :
Both A and B

Question 118
Which of the following is not a quality of teachers-
Answer :

(A) Empathy

(B) Communication

(C) Creativity

(D) Jealous

Right Answer :
Jealous

Question 119

Which of the following personal qualities of a teacher affect teaching?

Answer :

(A) Sensitivity

(B) Management capacity

(C) Social skills

118001
118002
118003

118004

Right Option Id : 118003

Question Id :

Option Id

115001
115002
115003

115004

Right Option Id : 115001

Question Id :

Option Id

116001
116002
116003

116004

Right Option Id : 116003

Question Id :

Option Id

101001
101002
101003

101004

Right Option Id : 101004

Question Id :

Option Id

102001
102002

102003

115

116

101

102



(D) None of these

Right Answer :
Sensitivity

Question 120
Teacher's role at higher education

Answer :

(A) Promote self learning in students
(B) Provide information to students
(C) help students to solve their problem

(D) None of these

Right Answer :
Promote self learning in students

Question 121
Evaluation process is related to-
Answer :

(A) Whole learning process
(B) Examinatino
(C) Test

(D) Measurement

Right Answer :
Whole learning process

Question 122
Which of the following is not a tool of evaluation?

Answer :

(A) Rating scale
(B) Project report
(C) Check list

(D) Cumulative record

Right Answer :
Project report

Question 123
A portfolio is a tool for-
Answer :

(A) Collection of student's works over a period of time
(B) Collection of student's marks over a period of time
(C) Collection of student’s grade over a period of time

(D) All of the above

102004

Right Option Id : 102001

Question Id :

Option Id

104001
104002
104003

104004

Right Option Id : 104001

Question Id :

Option Id

105001
105002
105003

105004

Right Option Id : 105001

Question Id :

Option Id

106001
106002
106003

106004

Right Option Id : 106002

Question Id :

Option Id

107001
107002
107003

107004

104

105

106

107



Right Answer :
Collection of student's works over a period of time

Question 124
The Purpose of Sports is
Answer :

(A) Physical development
(B) Moral Development
(C) Both of the above

(D) None of the above

Right Answer :
Both of the above

Question 125

Psychological foundation plays its role in the devlopment of curriculum keeping in view-

Answer :

(A) Student's emotion
(B) Student's nature
(C) Student's happiness

(D) student's needs

Right Answer :
student’s needs

Question 126
The Characteristic of the Indian society
Answer :

(A) conservative
(B) unscientific
(C) open

(D) stratified

Right Answer :
stratified

Question 127
which of the following is not the cause of getting ?
Answer :

(A) Mental conflict

(B) Desire to remember

(C) Defective methods of remembering

(D) All the above

Right Answer :

Desire to remember

Question 128

Right Option Id : 107001

Question Id : 103

Option Id

103001
103002
103003

103004

Right Option Id : 103003

Question Id : 109

Option Id

109001
109002
109003

109004

Right Option Id : 109004

QuestionId : 110

Option Id

110001
110002
110003

110004

Right Option Id : 110004

QuestionId : 111

Option Id

111001
111002
111003

111004

Right Option Id : 111002

Question Id : 112



Which of the these factors does not affect the learning process -

Answer : Option Id
(A) Intelligence 112001
(B) Interest 112002
(C) Readiness 112003
(D) Goal setting 112004
Right Answer : Right Option Id : 112004
Goal setting
Question 129 Question Id :
Audio-visual aid facilitate-
Answer : Option Id
(A) Multi-sensory 113001
(B) Only visual 113002
(C) Only Audio 113003
(D) None of the above 113004
Right Answer : Right Option Id : 113001
Multi-sensory
Question 130 Question Id :
Dienes block is used in-
Answer : Option Id
(A) Addition 114001
(B) Substraction 114002
(C) Both of the above 114003
(D) None of the above 114004
Right Answer : Right Option Id : 114003
Both of the above

Other Skills
Question 131 Question Id :

Lala Lajpat Rai was also known as :
Answer : Option Id

(A) Sher-e-Bengal

149001
(B) Sher-e-Maharastra 149002
(C) Sher-e-Kashmir 149003
(D) Sher-e-Punjab 149004
Right Answer : Right Option Id : 149004
Sher-e-Punjab
Question 132 Question Id :

Which of the following Monsoons account for most of the rainfall in India?
Answer : Option Id
(A) North East Monsoon
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114

149

148



148001

(B) South West Monsoon

148002
(C) South East Monsoon 148003
(D) East Asia Monsoon 148004
Right Answer : Right Option Id : 148002
South West Monsoon
Question 133 Question Id :
Which country has the largest number of internet users in the world?
Answer : Option Id
(A) China 147001
(B) USA 147002
(C) India 147003
(D) Brazil 147004
Right Answer : Right Option Id : 147001
China
Question 134 Question Id :
Under whose leadership in Bihar, All Party boycotted the Simon Commission?
Answer : Option Id
(A) Anugrah Narayan Sinha 146001
(B) Ramvriksh Benipuri 146002
(C) Phanishwar Nath Renu 146003
(D) Rajendra Prasad 146004
Right Answer : Right Option Id : 146001
Anugrah Narayan Sinha
Question 135 Question Id :
As per the recent notification of CERT-In, what is the time limit to report the cyber incidents after its detection?
Answer : Option Id
(A) 2 days 145001
(B) 1 day 145002
(C) 12 hours 145003
(D) 6 hours 145004
Right Answer : Right Option Id : 145004
6 hours
Question 136 Question Id :
Which of the following is called the secondary air pollutant?
Answer : Option Id
(A) PANs 144001
(B) Ozone 144002

(C) Carbon monoxide

144003

147

146

145

144



(D) Nitrogen Dioxide

144004
Right Answer : Right Option Id : 144002
Ozone
Question 137 Question Id :
The burning of solid waste is not recommended because
Answer : Option Id
(A) It is very costly 143001
(B) It requires a lot of space 143002
(C) It requires modern technologies 143003
(D) It causes several environmental issues 143004
Right Answer : Right Option Id : 143004
It causes several environmental issues
Question 138 Question Id :
Which type of farming causes more deforestation?
Answer : Option Id
(A) Subsistence farming 142001
(B) Commercial farming 142002
(C) Mixed farming 142003
(D) Dairy farming 142004
Right Answer : Right Option Id : 142001
Subsistence farming
Question 139 Question Id :
Economies of the following country(ies) is(are) responsible for greatest annual CO; emissions.
Answer : Option Id
(A) USA 141001
(B) China 141002
(C) Both (A) and (B) 141003
(D) Brazil 141004
Right Answer : Right Option Id : 141003
Both (A) and (B)
Question 140 Question Id :
In which of the following regions of India, do flamingos migrate in large numbers to nest .
Answer : Option Id
(A) coastal areas 131001
(B) Rann of Kachchh 131002
(C) Thar 131003
(D) the Himalayas. 131004
Right Answer : Right Option Id : 131002

Rann of Kachchh
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Question 141 Question Id :

If the length and width of a rectangle are 12 feet and 11 feet, then find its area.
Answer : Option Id

(A) 136 square feet

139001
(B) 132 square feet 139002
(C) 130 square feet 139003
(D) 112 square feet 139004
Right Answer : Right Option Id : 139002
132 square feet
Question 142 Question Id :
Find the Compound Interest on Rs. 1000 for two years at 2% per annum.
Answer : Option Id
(A) 20 138001
(B) 20.5 138002
() 204 138003
(b) 206 138004
Right Answer : Right Option Id : 138003
204
Question 143 Question Id :
The value of 42/10000 in decimal fraction is
Answer : Option Id
(A)0.42 137001
(B) 0.0042 137002
(C) 0.00042 137003
(D) 0.000042 137004
Right Answer : Right Option Id : 137002
0.0042
Question 144 Question Id :
When a number is divided by 893 the remainder is 193. What will be the remainder when it is divided by 47?
Answer : Option Id
(A1 136001
(B)5 136002
(©)33 136003
(b) 23 136004
Right Answer : Right Option Id : 136002
5

Question 145 Question Id :

139
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There is a tower of 10m between two parallel roads. The angles of depression of the roads from the top of the tower are 30° and 45°. How far are the roads
from each other?

Answer : Option Id
(A) 27.32 m 135001
(B) 29.56 m 135002
(C) 20v3 m 135003
(D) 10/v3 m 135004
Right Answer : Right Option Id : 135001
2732 m

Question 146 Question Id :
Monday : April : : Friday : ?

Answer : Option Id
(A) July 134001
(B) Saturday 134002
(C) August 134003
(D) Tuesday 134004
Right Answer : Right Option Id : 134003
August

Question 147 Question Id :
Choose the word which is least like the other words in the group.

Answer : Option Id
(A) Kidney 133001
(B) Heart 133002
(©) tung 133003
(D) Ear 133004
Right Answer : Right Option Id : 133002
Heart

Question 148 Question Id :
60,30,120,15,240?

Answer : Option Id
(A) 30 132001
(B) 120 132002
(©) 140 132003
(D) 71/2 132004
Right Answer : Right Option Id : 132004
71/2

Question 149 Question Id :
In a certain code, if BAD is written as YZW and SAID is written as HZRW, then LIFE will be written as:

Answer : Option Id
(A) ORUV 140001

(B) OSUV

134

133

132

140



(C) 0QVU

(D) ORVW

Right Answer :
ORUV

Question 150
Pointing towards Sita, Nikhil said, "I am the only son of her mother's son". How is Sita related to Nikhil?
Answer :

(A) Aunt

(B) Niece

(C) Mother

(D) Cousin

Right Answer :
Aunt

140002
140003

140004

Right Option Id : 140001

Question Id :

Option Id

150001
150002
150003

150004

Right Option Id : 150001
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